BFTILAC 1/2

T—F

IIE £z

16
11

wW

u—y

Ml EE
15. (RDETC)

bye

HE E23Y
16. (BiLEXK)

1R

#}|AR HF
25. (Fr L)

AR A
25. (Fr L)

bye

bye

BE A
16. (BII[ER)

O 0o OO B~lWOIDN

Mg EH
. (BETY)

—_
o

bye

—_
—_

¥H =
% (FrLr)

—_
N

AKX
06. (R4—TC)

—_
w

hnEE IERX
09. (fy#>TC)

—_
E=N

Mg RA|
% (FrLr)

—_
ol

bye

—_
(=7}

BAIER A ah
20y bk, A2)

—_
~

[T

08. (F¥~RXTC)

—_
co

bye

—_
©

MHE #E
01. (EAERT C)

N
o

= EX
06. (R#—TC)

N
—_

INRR fili—
01. (EXEETC)

N
N

bye

N
w

bye

N
S

g B—

20. (R k. 42)

N
()]

n#E F—

20. (R k. A42)

N
»

bye

N
~

HE FIA
01. (EXEETC)

N
[e=)

AN
0. (Fy b, A2)

N
©

==
% (FrLvd)

3R

4R

w
o

B R
07. (V=—FEX)

w
—_

bye

w
N

Nl E—
2B (FrLod)

|\ =
Ak R
83
=2 S eht)
85
Hik Rt
84
il I
86
B[ 2R _fial A
86
T il
.
BiA=1
86
e
84
=1
. 84
VR fiti—
0
=1
| =z
& E EI EE
81
| ;3L
83

B Z={-
97/

98 (4

1FE




BFTILAC 2/2

T—F

IIE £z

10
14

Gl B~

12
15

33

IO
15. (FNETC)

34

bye

35

55 =2
18. (J/NE V)

36

1Bl Bk
. (BETY)

37

TR &
25. (Fr L)

38

RH BT
01. (EAERT C)

39

bye

40

A+E EHR
25. (Fr L)

41

hi BEX
2.(HLTC)

42

bye

43

bye

44

a5 &t
% (FrLrd)

45

BX BR
06. (R4—TC)

46

#H 3
01. (EAERT C)

47

bye

48

bl
06. (R4—TC)

49

WA %
N (BETY)

50

bye

51

BE B—
15. (FDETC)

52

= Bk
0. GRy b, A2)

53

IS 28
2% (FrLrd)

54

NEA ZFth
24 (EXKHKF)

55

bye

56

I =
15. (FDETC)

57

TH ¥
18. (U/NE)

58

bye

59

bye

60

BH RN

2. (FA4RYav b)

61

A £
01. (EXEETC)

1R

3R

4R

SF

62

fRE A
2% (FrLod)

63

bye

64

EH &
15 (FNETC)

86

| _hat mx
hi EX
W.0
15+
it B
85
i
82
-1
82
Al
WA B
36
86
A Eth
82
| W E
85
N H Eth
82
T =
A H Eth
9/
FH
~ 86
8
85
==
81
N=]
86




